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Key Book English

Unit#7:

e Comprehension Focus
()  Answer the following questions:

1) We should be glad that our nose is in the right place on our face because if it were
somewhere else how should we breathe and smell. And how our face looked like without
nose on it.

2) If my nose was sandwiched between my toes it would be pressed in my shoes and | would
smell my feet also.

3) If my nose is displaced from my face to some other place, | might suffer breathing
problem and disliked it also.

4) This poem giving us the message that we should be grateful for whatever we have without
complaining about it.

5) Write the blessing of Allah (SWT) which you experience in everyday life.
¢) Phonics Focus

(ii) Divide the given words into the syllabus with the help of a dictionary and also write their
number of syllables.

Words Syllable Division Number
brain brain 1
sandwiched sand-wiched 2
despair des-pair 2
computer com-pu-ter 3
absolute ab-so-lute 3

Use of Dictionary

(iii) Use a dictionary to find the meanings of the words given below.

Words Meaning

dislike disapprove

absolute perfect

forever always

sandwiched to be pressed between two
rattle make a sharp noise scolding

e) Grammar Focus
Fill in the blanks with the correct modal verbs.

1) ought to
2) shall




3) might
4) must
5) might

Absolute Adjectives

(i)  Use the given absolute adjectives in sentences.
1) horrible: | saw a horrible sight in my dream.

2) empty: An empty vessel thunders much.

3) dead: The bear took him dead and went away.

4) perfect: It is quite perfect.

5) inferior: Don’t think others inferior than you.

Adverbs of place and Frequency

(vi) Read the given sentences and circle the adverbs. Also write their types in the given
blanks.

1) QuUD place
2) Sometimes> frequency
3) place
4) frequency
5) frequency
6) corner place

(vii) Use the given adverbs in sentences.

1) Outside: Do not go outside.

2) Somewhere: | have placed my bag somewhere.
3) Often: I often go for picnic.

4) Usually: We usually eat simple food.

5) Rarely: I rarely spend my time in idle talks.

6) Upwards: He was moving upwards.

f) Writing Focus
(i1) Write the summary of the poem ‘Be Glad your Nose is on Your Face’.
Summary:

The poem “Be Glad your Nose is on Your Face” is written by Jack Prelutsky. He is an
American poet. He was born on September 8, 1940. He is the author of more than forty
books of children’s poetry. This poem is one of his hilarious poems. This poem was
published in 2008. In this poem, the poet says that we must be happy that our nose is on our
face not on any other place. If it is on my other place then how our face look alike and we
also disliked it a lot.

In the second stanza of the poem, the poet says that if our so precious nose were
sandwiched in between our toes then we’d be forced to smell our feet.




Lesson# 8:
Comprehension Focus
Answer the following questions

Ansl: Because Jahangir was never willing to put in much effort to cultivate his land like
Akbar. Therefore Jahangir would find he had very few crops to sell. On the other hand,
Akbar would earn a handsome income by selling his crops.

Ans2: Jahangir was jealous of Akbar because he could not earn income like Akbar so
Jahangir beared enmity for Akbar.

Ans3: When the flames got high in the air, Akbar rushed to check which direction the fire
had started from he saw Jahangir running quietly out of his field.

Ans4: | did the same with Jahangir as Akbar did because Allah love those who helps others.

Ans5: The lesson which | got from story was that good deeds with a bad person change his
bad deeds and turn him in a gentleman.

(iii); Read the story again and fill in the following mind map.

Point 1: There was a farmer who lived in a village. He was a very nice kind and good natured
person.

Point 2: There was one man who always hated Akbar His name was Jahangir one night, out
of his Jealousy he quietly set fire to Akbar’s crops.

Point 3: Jahangir’s son had fallen sick. He found that the village doctor was unable to cure
his illness.

Point 4: Akbar rode to the town that was ten miles way and fetched a more experienced
doctor who lived there within hours, the boys was perfectly alright.

Point 5: Jahangir apologized to Akbar for his bad behavior and wrong acts. Akbar forgave
him and hugged him.

(iv): Summary

Once there was a farmer who lived in a village. he had a small piece of land. His name
was Akbar. He was very nice and good natured person. Akbar loved to help others. He was
loved by everyone in the village.

At the same time, there was one man who always hated Akbar. He was Jahangir, a neighbour
Akbar. He was lazy. He was never willing to put in much effort to cultivate his land like
Akbar. One night, out of his jealousy, he quietly set fire to Akbar’s crops. When the flames
got high in the air, Akbar rushed to check which direction the fire had started from. He saw
Jahangir running quietly out of his field.

Some days later, when Akbar was sleeping, he heard the sound of lamentations. He
hurried to find what the matter was. Jahangir’s son had fallen sick. He found that the village




doctor was unable to cure his illness. Akbar got really worried about his son. He united his
own horse and rode to the town that was ten miles away and fetched a more experienced

doctor who lived there.

The doctor he brought was able to diagnose the disease of Jahangir’s son properly and
provided an exact cure of it within hours, the boy was perfectly alright. Next day Jahangir
went to Akbar’s hut and began to cry bitterly. he admitted his sin but was surprised when
Akbar told him that he already knew about everything he did. Jahangir apologized for his
bad behavior and wrong acts. Akbar forgave him and hugged him.

(vii): Complete the gapped summary

1) Akbar ...
2) laziness ...l
3) always ...
4) hardwork ...l
5) mistake ...l
Syllable division
Words Syllable division No. of syllables
Manage Man — age 2
Fetch Fetch 1
Experience Ex — pe —ri —ence 4
Bitterly Bit — ter — ly 3
Harvest Har — vest 2
Use of Dictionary:
Words Unscrambled words Meaning
Effotr Effort Try everything possible to
achieve something. speech
or behavior that keeps the
truth hidden.
Detcei Deceit Speech or behavior that
keeps the truth hidden.
Awaren Unaware Having no knowledge of a
situation of fact
Dworc Crowd A large number of people
gathered together in a
disorganized or unruly way.

(iv): Adverbs of degree and reason:

1) really: The girl was really beautiful.




2) quite: The movie is quite interesting.

3) too: You are running too slowly.

4) Therefore: The teacher is ill and therefore is unable to come to school.
5) because: | sing because | like singing.

6) Hence: Ali was hence neglected by the teacher.

(vii): Use the given prepositions in sentences of your own.
Between: This is secret between you and me.

Inside: We went inside the dark house.

Since: | have that song since 1992,

at: She lost her ring at the bridge.

Evaluative questions:

1) Jahangir’s behavior was very wrong. He was in a wrong path.
2) Akbar was a gentle man. he believed in hard working. He always like to help others.
3) | feel bad if someone hurts me but | tolerate all this.

key Book Maths
Unit# 4. Integers

On your own: 4.1
Q# 1: Positive integers: +2, +10, +11, +8, +9, 7, 10
Q#2:

a) +5
b) -11
c) 0

d) +9
e) -14
f) +23
g) +19
h) +19

Q#3: Enlist all the integers which come between the following:
a) -3,-2,-1,0, +1, +2, +3, +4, +5
b) -6, -5, -4, -3, -2
c) -13,-12,-11, -10,-9, -8, -7, -6, -4, ..... 0, +1, +2, +3, ...... 11
d) -9, -10, -11, -12, -13, -14, -15, -16, -17




e) -4,-3,-2,-1,0, +1, +2, +3, +4

f) +7

g) -10,-9,-8,-7 ...... 0,+1,+2,+3, ...... +16

h) -18, -17, -16, -15, -14, -13, .....0, +1, +2, +3, +4,

Q#4: Write the six integers which are:

a) <+5

-1,0, +1, +2, +3, +4
b) >-6

0,-1,-2,-3,-4,-5
c) <-12

-13, -14, -15, -16, -17, -18
d) >-16

-10, -11, -12, -13, -14, -15
e) =10

10, 11, 12, 13, 14, 15
f) <50

45, 46, 47, 48, 49, 50

g#5: Write an integer for each situation:

a) +12000

b) -700

c) -30°

d) +100

e) -5695

f) —Rs. 720

g) -2°

h) -15°C

i) -3

j) +55

Q#6:
Buying price = Rs. 65000
Selling price = Rs. 62000
loss = Rs. 65000 — Rs. 62000

= Rs. 3000
On Your own

Q#2: Which number is greater? Give reason.

a) -666
b) -234




c) -1000
d) -55

Reason: A greater number with a negative sign is always smaller than every smaller number
with negative sign.

Q#3: Arrange integers in ascending order:

a) -13,-5,-1,0, 3, +4,7

b) -12, -5, -3, +2, +3, +11

c) -33,-16,-12, 0, +5, +9, +11
d) -12, -8, -5, 0, +6, +11, +17

e) -5, -4,-3,0,=1, +7, +8, +9

f) -15,-14, -11, 0, +23, +24, +27

Q#4: Arrange the following in descending order

a) 9,7,0,-1,-2,-3,-5
b) +23, +12, +9, -8, -11, -13
c) +45, +24, +100, -12, -17, -20
d) +16, +8, 0, -7, -8, -9
e) +10, +4, +1, -1, -8, -9, -10
f) +90, +78, +56, 0, -11, -34, -45, -78
On Your own 4.3
Q#1: Write the absolute value of the following:
a) 5
b) 67
c) 99
d) 90
e) 80
f) 40
Q#2: Arrange the absolute or numerical values of the integers in ascending order.

a) 0,7, 22,23, 33,50
b) 0,3,5,6, 11, 77

¢) 0,7,8,09,11,14
d) 3,5,7, 11, 13, 18
e) 2,4,7,9,16

f) 6,7,8,22,25,31,56
Q#3: Distance between Saad and kamal
7km + 7km = 14km
Q#4.

Distance between school and home = 5km




Total distance to go and come back = 5km + 5km

Q#1:

= 10km
On Your Own: 4.4
a) (+1) + (+3) b) (-3) +(-5) c) (+4) - (+2)
= +4 =-3-5 =+4-2
=-8 =+2

d) (-3) +(-4) + (-2)
=3-4-2
-9

e) (+7) +(-10)
= +7-10
=-3

3-7-4

f) (_-3) +(-7) + (-4)
=3

9) (-1 +(-2)+(-3)
-1-2-3
-6

h) (-3) +(-4)
=7

) (+9) +(+10)
=+9-10
=-1

Q#2: Solve the following:

a) (+9) = (+9) b) (-4) +(-7) c) (+4)—(+6)
=+9-5 =-4 -7 =+4-6
=+4 =-11 =-2

d) (-9) + (-8) + (-2) e) (+10) - (-2) f) (-2)+(5)+3
=-9_-8-2 =+10+2 =-2-5+3

=+12 =-7+3=-4
g9) (-5) +(-2) + (-7) h) (+3) - (+2) ) (+6) —(+4)
=5-2-7 =+3-2 =+6-4
=-14 =+1 =42

) (-4)+(-6)+(-8) k) (+23) + (-2) + (-34) ) (-7) + (+6)
=-4-6-8 =+23-2-34 =-7+6
=-18 =+21-34 =-1

=-13

Q#3: Write the missing integers in the given:

a) (+11) + (+3)=+14

b) (-4) + (-11) = -7

c) (-3)—(+4) =-7

d) (-a) +(-5) +(-2) =-16
e) (+2)—(-3)=+5

) (-1)+(-3)+(-7)=-11
g) (-5) + (-7) + (+2) =-10
h) (-5) + (-2) + (-9) = -16




Q#4: The difference of two integers is + 34. Of minuend is -23. Find the subtrahend.
Solution;
difference of two integers = +34
minuend = -23
subtrahend = +34 — 23
=+11

Q#5: An elevator goes down 5 floor from the ground floor. Then it goes up 2 floors. What
floor is the elevator on now?

Solution:

Elevator goes down = 5 floors

Elevator goesup =2 floors

Elevator flor on floor = -5 + 2

= -3 (3" basement)

Q#6:

Temperature in night = -10°C

rise in temperature =4°C

New temperature = -10°C + 4°C

=-6°C
On Your own 4.5
Q#1:

a) (+3)-(+8) b) (-4) - (-6) c) (+2) - (+3)
=+3_8 =-4+6 =+2-3
=-5 =42 =-1

d) (-9) - (+6) e) (-7)—(-9) f) (-1)-(-8)
=9-6 =-7+5 =-1+8
=-15 =-2 =+7




g9) (+7)—(-3) h) (-9)-(-3) ) (-3)-(-3)
=+7+3 =-9+3 =-3+3
= +10 =-6 =0

Q#2: Solve the following:

a) (+4) - (+18) b) (-8) - (-3) c) (+3)—(+7)
=+4-18 =-8+3 =+5-7
=-14 =-5 =-2

d) (-11) - (-5) e) (-3)-(-2) f) (-5)-(-4)
=-11+5 =-3+2 =-5+4
=-6 =-1 =-1

9) (-6)—(-4) h) (1) = (-3) ) (-4)-(+2)
=-6+4 =-7+3 =-4-2
=2 =4 = -6

) (+7)-(-8) k) - 9) (+2) ) (+6)—(+8)
=+7+8 = =+6-8
=+ 15 = ll =-2

Q#3: Write the missing integers:
a) (+3) - (+8) = (-5)
b) (-3)-(-1) =(-2)
c) (-4) - (+5) = (-9)
d) (-8) - (-5) = (-3)
e) (-1)—(-8)=+7
f) (9)-(5-(2)=-2
Q#4.
Sum of two integers = +54
One integer = -11
Other integer = + 55 — 11
=+44
Q#5:
Distance covered by 1% car = 44km




Distance covered by 2" car = 62km
Total distance = 44km + 62km
=106 km
QH6:
Distance of 1% place above sea level = 213 m
Distance of 2" place below sea level = 114m
Distance both place = 213m + 114m
327m

On Your own 4.6
Q#1: Complete the following by using law of addition of integers:

a) (-3)+5=5+(-3)

b) 7+ (-4)=-4+7

c) (-38) + (-17) = (-17) + (-38)

d) (-16) + (-8) =-8 + -16

e) {(4+(-25}+5=4+(-25+5)

f) (84 +43) + (-9) =84 + {(43) + (-9)}
g) 48+ (2+25)=(48+2)+25

h) 38 + (48 + 12) = (38 + 48) + 12

Q#2: Which of the following are true?
Ans:a & d are true

a) -6, 8
=(-6) +8=8+(-6)
b) +9, +4
= (+9) + (+4) = (+4) + (+9)
c)—7,-3
= (N +(3)=(3)+(7)
d) -4, +16
=-4+16=16 + (-4)
e) 3,-43
=3+ (-43)=(-43)+3
f) -8, +9
=-8+9=9+(-8)

Q#4: Verify the associative law for the following:

a) 8, -6, -9

={(®8) + (-6)} + (-9) =8 + {(-6) + (-9) }
b) 15, 5, -38




=(15+5) +(-38) = 15 + {5 + (-38)}
c) -34, 37, -48
= {(-34) +37} + (-48) = -34 + {37 + (-38)}
d) -39, 18, 50
= {(-39) + 18} + 50 = -39 + (18 + 50)
e) -16, -21, 98
= {(-16) + (-21)} + 98 = -16 + {(-21) + 98}
f) -48, -96, -83
= {(-48) + (-96)} + (-83) = (-48) + {(-96) + (-83)}

Q#5: Verify the following:

a) (-2)+5=5+(-2)
3=3
b) 11+ (-3)=-3+11
8=38
c) (-8)+(-7)=-7+(-8)
-8-7=-7-8
-15=-15
d 7+(-8)=-8+7
by = -1
Q) {4+ (N}+3=4+(7+3)
-3+3=4+(4)
0 =0
f) {(-14 +9)} + (-6) =-14 + {19 + (-6)}
5-6=-14+3
-11=-11
0) (-18) + {8 + (-4)} = {(-18) + 8} + (-4)
18 +4=-10-4
14 = -14
h) 50 + {(-13) + (-16)} = {50 + (-13)} + (-16)
50 - 29 = 37 -16
21 =21

On Your own 4.7

Q#1: Find Product

a) +2,+5 b) -4, +7
= (+2) (+9) =(-4) (+7)
=+10 =-28

c) +9,-2

= (+9)(-2)
=-18




d) +6, +5 e) 13,-10 f) +14, -20
= (6)(5) = (+13)(-10) = (+14)(-20)
= +30 =-130 =-280

g) -3, +22 h) (-11), (-22) i) -70, +21
= (-3)(+22) = (-11)(-22) = (-70)(+21)
= _66 = 242 =-1470

j) +40, -29 k) -4, +5 ) -10, +10
= (+40)(-29) = (-4)(+5) = (-4)(+5)
=-1160 =-20 =-20

Q#2: Find Product

a) (+5), (+3) b) -3, -3 c) +2,-5
= (+39)(+3) = (-3)(-3) = (+2)(-5)
= +15 =+15 =-10

d) -4, +3 e) -1, -7 f) +3,-5
= (-4)(+3) = (-1(-7) = (+3)(-5)
=-12 =+ =-15

g) -4, -2 h) +1, -5 ) -2, +6
= (-4)(-2) = (+1)(-5) = (-2)(+6)
=.5 =-5 =-12

j) -3,+6 k) -2, +5 ) -7, +2
= (-3)(+6) = (-2)(+5) = (-7)(+2)
=-18 =-10 =-14

Q#3:

greatest —ve integer = -1
smallest +ve integer = +1
Product = (-1) x (+1)
=-1
Q#4: Find the product of -100 and +100
= (-100)(+100)
=-10000




On Your Own 4.8

Q#1: Verify the commutative law under multiplication:

a) -2, +6 b) 8, -4 c) -6, 3
(-2)(+6) = (+6)(-2) = (8)(-4) = (-4)(8) (-6)(3) = (3)(-6)
12 = -12 -32=-32 -18=-18
d) -38, -94 e) -95, 34 f) 48, -82
(-38)(-94) = (-94)(-38) (-95)(34) = (34)(-95) (48)(-82) = (-82)(48)
+3572 =+3572 -3230 = -3230 -3936 =-3936

Q#2: Verify Associative law under multiplication:
a) -4,+7,-8
(axb)xc=ax(bxc)
{(=0) x (71} x (=8) = (=4) x{(+7) x (-8)}
(—28) x (=8) = (—4) x (—56)
+224 = +224

a) -3,-2,7
{(=3) x (=2)}x (7) = (=3) x {(=2) x (7)}
(+6) x (7) = (=3) X (—14)
+42 = +42
b) -13, 52, -68
{(—13) x (52)} x (—68) = (—13) x {(52) x (—68)}
(—676) x (—68) = (—13) x (—3536)
+ 45968 = + 45968
c) -85, -44, 76
{(—13) X (52)} x (—=68) = (~85) x {(—44) x (76)}
(+3740) x (76) = (—85) x (—3344)
+28240 = + 28240
d) -63, -93, -81

{(=63) x (=93)} x (=81) = (=63) x {(-93) X (—81)}

(+5859) x (—81) = (=63) X (+7533)
474579 = - 474579
e) 15, -38, -39
{(15) x (—38)} x (—39) = (15) x {(—38) x (—39)}
(=570) x (=39) = (15) X (+1482)
+22230 = +22230

Q#3: Write multiplicative inverse.
a) -3




if we multiply -3 and _iB we get 1

3 ! 1
—3IX — =
-3

so multiply inverse of -3 is _i3

b) -2
if we multiply -2 and _iz we get 1

1
2 x—=1

-2
c) +7
if we multiply +7 and % we getl
1

7 xX==1
7

so multiplicative inverse of 7 is %
d) +100
. . 1
if we multiply +100 and TToo e get 1

1
100X —=1
00 100

so multiplicative inverse of 100 is %0
e) -77
if we multiply -77 and _%7 we get 1

77 ! 1
— X —— =
—77

so multiplicative inverse of -77 is _%7
f) -243
if we multiply -243 and ﬁ, we get

—243 X 1

—243
so multiplicative inverse of -243 of i.
g) -48
multiplicative inverse of -48 is }48
h) -55
multiplicative inverse of -55 is _iss
i) +60
multiplicative inverse of 60 is 6—10
1

) 5

-2




.- . . 1 .
multiplicative inverse of =S -2
3
K) E
I . . 3. 2
multiplicative inverse of 5153

2
h -2
7

. e . . 2.
multiplicative inverse of —2ls—2

Q#4: Verify the distributive law.
a) 4x[(1+(3)]=(4%x1)+[(—4 % (-3)]
—4X[1+(3)]=(-4%x1)+[(—4 % (-3)]

—4x[1-3] = (=4) + (12)
+8 = +8
b) —4[(=5) + 1] = [(—4) x (=5)] + [(—4) x 1]
—4 x (—4) = 20 + (—4)
+16 = =16
¢) [(=5) =21 x (=2) = [(=5) x (=2)] - [2 X (~2)
—4x (—4) = 20+ (—4)
+16 = +16
d) 8% [(1+ (=3)] =(-8x1) +[(—-8 x (=3)]
—8x%x(—-2)= —8+24
+16 = +16
e) [(=6) —1] x (=4) = [(=6) x (=4)] — [1 x (—4)]
—7 x (—4) = 24 — (—4)
+28 = 24+4
+28 = +28
f) —2x[(1+(=3)]= (=2x1)+[(-2x(=3)]
—2x(-2)=(-2)+6
+4 = +4
0) [(=7) =11 x (=3) = [(=7) x (=3)] = [1 x (=3)]
(—=8) x (=3) = +21 — (=3)
+24 = 21+3
24 = 24
h) —4 X [(7 + (=8)] = (—4 X 7) + [(=4) X (=8)]
—4x(—-1)= —28+ 32
+4 +4

On Your Own: 4.9
Q#1; Solve the following:

a) (+45) + (-5)
=-9




b) (—63) + (—9)

=+7

c) (—80) +~ (+4)
=-20

d) (+44) -~ (—-11)
=4

e) (—60) + (+10)

f) (—144) = (+12)

=—12

g) (+168) + (—8)
=21

h) (+390) = —39
=—-10

Q#2: Solve the following:

a) 0+-4=0

b) 0+-10=0

c) 0+(—90)=0
d)0o+(-5=0
e) 0+ (—130) =0
f) 0+ (4+300)

Q#3: Why we cannot divide any integer by zero? Give reason with example.

Ans. It is impossible to divide a number by 0 because these is 0 number that can multiply by
0 and gives the number itself.

Example: 0 +33 =0
Review exercise# 4
Q#1: Choose the correct option:
a) +1
b) -1
C) not determined
d) +16
e) always integer
f) -7

g) -6
h) +40

. 1
I) - E
Chapter# 5: Simplification

Solve the problem using BODMAS rule:




a) (24 +34) %3
=58x%x3
=174
b) 4+ (46 ~2%x3)+6
=4+ (23%x3)+6
=4+69+6
=10+ 69
=79
c) 5x(8—-4)+96
=5Xx4+4+96
=20+ 96
=116
d) 144+ (23x5-1)+5
=14+ (115-1) +5
=14+ 114 +5
=14+~
70+ 114 184
5 5

e) 38+ 6x 13— (13 x6)
=38+748-78

=38

f) 77+ (12 +3x2)+ (12%x4—-8)
=77+ (4 x3)+48—-8
=77+ 12 + 40

=129

g) 46 ~6%x2+ 13— (6 +4)
=46 +6%x2+13—-10

:4—66><2+13—10

:§x2+3
=243

3
_ 4649 _ 55

3 3
h) 10 + (10 x38) +4+9—3

=10+ (380) +4+6
= X146

380 4
1

T 152
_ 14912 _ 913

152 152

Check your Brain:

a) {(3+2x7)—(80=10)}




=(3+14—8)

={17 — 8}
=9

b) 24 —[6+ {12 X (7 =3 + 5)}]
=24 —[6+{12x (4 +5)}]
=24 —[6+ {12 x 9}]
=24 —[6 + 108]
=24-114
=—-90

Exercise# 5.1
Simplify the following:

a) 16+3Xx7-5
=16+21-5
=296-5
=17.6

b) 42 =2 + 45 — 22
=21 +45-22
= 66— 22
= 44

7 45
_ 3375-49 3326

315 315
e) 725 —[20x {1+ 7+ (7 x5=3)}]
=725 —[20 x {10 + 7 + 7 x 2}]
=725 —[20 x {10 + 7 + 14}
=725 — [20 x 31]
=725 - 620
= 105




=2 X ==
9 75 720 4
364 1
45 4
_ 1456+45 _ 1501
180 180
6
180

2= (- (3229
(-]
-5

{34—105}
8

=2+71

WIRW[IRPRWIRWIRrW]R

I

I
~
—_
"

3 80
5680—-189 _ 5491

240 240

211
=22—

240

. 6 34 6
D (Ex2)-2x
17 15 35

4 4

5 35
_28-4

35
_ 24

"~ 35

winN




JEe
:{(?Xg)xrg}

_95_18 6

9 " 9 3
_190 6

=19§
) 22.46 x 3 + 2(7.82 — 2.42) + 9.5 X 3.4
= 22.46 x§(5.40) +323

=22.46 x 3(2.7) + 32.3
=22.46 x 8.1+ 32.3
= 181.926 + 32.3
=214.226
m) 12.35[5.25 + 3(18.43 — 3.66 X 5.75)]
= 12.35 + [5.25 + 3(14.77 X 5.75)]
= 12.35 + [5.25 + 3(84.9275)]
= 12.35[5.25 + 254.7825]
= 12.35 + 260.0325
= 272.3825

Exercise# 5.2

Q#1: Afnan’s monthly income is Rs. 35300, if he spent % of his income on house rent, % on

food and % on other expenditures. Find the total amount that he saved.
Total income = 35300 Rs.
House rent = % %X 35300
= Rs. 7060
Food = = x 35300
10
= 105900 Rs
Other = — x 35300
10

= 14120

Total spent = 7060 + 10590 + 14120
= 31770 Rs

Saved amount = 35300 — 31770




= 3530 Rs

Q#2: The length of a piece of rope is 111.9 meter. if it is divided into 6 equal parts and 10
meters of each rope is used. find the length of remaining rope.

Total =111.9 m
Divides =111.9+ 6
= 18.65

If he divides 10meter of 6 equal pieces:
18.65 — 10 + 18.65 — 10 + 18.65 — 10 + 18.65 — 10 + 18.65 + 10 + 18.65 — 10
8.65 + 8.65 + 8.65 + 8.65 + 8.65 + 8.65 = 51.9 meter

Q#3: Dania bought 6 boxes of cupcakes. Each box has 12 cupcakes in it. She distributed gof

the cupcakes among the needy children and put the remaining 8 jars equally. How many
cupcakes did she put in each Jar?

Boxes = 6

Each box have =12 =6x 12 =72
Distributed the children = = x 72
=48
remaining = 72 — 48
=24
Total jars 8 = 2—84 =3
3 cupcakes in each jar.
Q#4.
Marwa scarves = 3 x 415
= 1245

Discount half = %45 = 622.5

Abay’s scarves = 2 X 920
= 1840

Discount = % =920

Total amount = 622.5 + 920
= 15425




Q#5; Ali has number blocks in three colours. He has 8 blue blocks. there are %times as many

green blocks as blue blocks and there are 4 fewer red blocks than green blocks. How many
blocks does Ali have?

Green blocks = x

red =4x
fewerred =4x
Ex =8
4
33X = 32

remaining = X + 4x — 3x = 32
=5x—-3x=32
2x = 32

32
T2
X = 16 blocks

Q#6: Madiha needs 7.5kg of Apple and 5.75kg of mangoes for an iftar party. She already has
325kg of mangoes and 2.25kg of Apples at home. How many more apples and mangoes
should she buy?

Mangoes = 7.5 — 3.25
= 4.25kg
Apples =5.75-2.25
=3.5Kkg
Review exercise
Q#3: Simplify the expressions:

a) 8204 — [30 X {20 + (8 X 32 + 4 — 63 = 9)}]
= 8204 — [30 x {20 + (256 = 4 — 7)}]
= 8204 — [30 x [20 + (64 — 7)}]
= 8204 — [30 x {20 + 57}]
= 8204 — [30 X 77]
= 8204 — 2310
= 5894
b) 13.65 — [4.65 + 3 X {18.45 — (3.65 x 3.75)}]
= 13.65 — [4.65 + 3 x {18.45 — 13.6875}]
= 13.65 — [4.65 + 3 x {4.7625}]
= 13.65 — [4.65 + 14.2875]




=13.65 —18.9375
—5.2875

(o= 5wt
:{(3—3)+1—6}Xa+z]
=[{(57) = b5+

[(25 16 5 3
=[x x2+2
L9 5 12 4

c)

—— |l

80 5
= — X —
9 12
100 | 3 _ 400+81
27 4 108
_ 481
108
81
108

Q#4: While traveling Rohan Paid Rs. 36.45 for rickshaw Rs. 34.50 for a metro bus and Rs
56.56 for meter train. If he had 1300 Rs. Find the total amount he had with.

used the amount: 36.45 + 34.50 + 56.56

=127.56
Total = 1300
remaining = 1300 — 127.56
=1172.44 Rs.

Q#5: The pack of large erasers has 8 pieces. The pack of medins erasers has 15 pieces each,
and the pack of small erasers has 20 erasers each. Ibrahim has 3 small, 2 medins 2 large. find

total erasers.
large =2 x 8 =16
medium =2 x 15 = 30
small =3 x 20 = 60
Total =60 + 30 + 16

= 106 erasers

Q#6: Usman and his family use 13% liters of water for bathing 10 % liters for cleaning and

6% liters for cooking. How much water they used.

Bathing = 132=12
9 9
Cleaning = 10> =22
15 15
56

Cooking = 62 =22
9 9




119 155
Total water = — + —
9 15

_ 595+465+280
45

_ 1340

45

56
+ =
9

=293
45

Q#7: In a restaurant a family ordered 3 sandwiches for Rs. 250 each 2 glasses of cold drink
for Rs. 180 each and one cup of coffee for rs. 210 They paid additional tax of Rs 122. If they
have Rs. 5000 note to a cashier how much was their total hill? How much amount did they
get as change?

Sandwiches = 3 x 250 = 750
Cold drinks = 2 x 180 = 360

Coffee =210
Tax =112rs
Total = 750+360+210 + 112
= 1432
Total = 5000
remaining = 5000 — 1432
= 3568 Rs.

Q#8: Ali and Fahad have Rs. 564.32 and Rs. 876.89. They want to buy a Tafseer book for
Rs. 2234.23. How many more rupees do they need to buy the tafseer book?

Fahad amount = 564.32
Aliamount =876.89
Total = 876.89 + 564.32
Tafseer book = 2234.33 — 1441.21
= 793.02Rs

Key Book Science

Unit# 5: Interaction of environment components

Think Back!
Q: Can you name the components of an environment/




Ans: Two main components of environment name are given below:

I. Biotic component

........ living organism

Ii. Abiotic component ...... non — living organism
Exercise:
1. Answer the question briefly
Q1: Ans.
Biotic components Abiotic component
e plants o Air
e animals e water
e microorganism e sunlight
e soil
e temperature

Q2: Ans. Another type of feeding association b/w two organism in which one organism is
benefitted and other is being harmed is called parasitism. For example: in this relationship

cats are hosts and fleas are parasites.

Q3: Ans. In the absence of sunlight plants do not make their own food + not make the food
of other living organism e.g Human, animal all the food chain components would be disturb.

Q4: Ans.

Predation

Parasitation

An interaction b/w two organism in which
one individual feeds on the other is called
predation. The animal that hunts down
another animal is called predator and the
animal which is being hunted down is called

prey.

Another type of feeding association b/w two
organism in which are organism is
benefitted and the other is being harmed is
caused parasitism. The organism who is
feeding is called a parasite and the organism
on which is the parasite is feeding is called
hosts.

Q5: Ans. Pg: 46 box

2. Answer the following questions in detail.

Q1: Ans. Pg: 44
Q2: Ans. Pg: 47 to 49
3. Choose the correct option:
I. Plant
Ii. Tiger
ii.  Decomposers
iv.  Predation
V. Producer
vi.  High rain fall
4. Write True or False
I. T
I F




Key book SSt

Lesson# 6: Landscape of Pakistan
A. Answer the following questions briefly:

Q1: Ans. Page#50

Q2: Ans. Page# 51

Q3: Ans. Plateaus Page# 53

Q4: Ans. Upper Indus Plain. Page# 53

Q5: Ans. Coastal regions. Page# 54

B. Answer in detail:

1: Mountains (Northern Mountains) Page# 49, 50

2: Plateaus: Page# 52

3: Plains in many areas are important for agriculture because where the soils were deposited
as sediments they may be deep and fertile and the flatness facilities mechanization of crop
productions. Plains supports grasslands which provide good grazing for live stock. Plains are
easily irrigated by canals and rivers. Pakistan is basically an agricultural country blessed with
soil, water, environment and man power sources. plains are important for Pakistan
economically. there features make up the plains important. the plain of Pakistan are formed

by the Indus river and its tributaries.

C. choose the correct option;
1. China
2. Nanga Parbat
3. Quetta
4. Manasarovar
5. Punjab
D. Match the columns:

Column A

Column B

Takht — e — Sulaiman

The Sulaiman Mountain

The Baifa Glaciers

The Karakoram

Ghora Gali

The lesser Himalays

Tirch Mir

The Hindu Kush

Sikaram

The Safed Koh




The Soan river The Potwar Plateau

Lesson: 7. World Population
A. Answer the following question briefly:

Q1: Ans. Many factors are involved in population distribution around the world. Weather
availability of food water, land, culture, geographical position and economic opportunities
are some factors which contribute to uneven population distribution in an area. Pg: 57

Q2: Ans. Pg: 57 last 4 lines
Q3: Ans. Point: population structure Pg: 59
Q4: Ans. Population density Pg: 62

Q5: Ans. Population growth of Pakistan Pg; 63. reasons are: High fertility, low contraceptive
prevalence rate, declining mortality, custom of early marriages, son preference poverty,
illiteracy especially for woman.

B. Answer the question in detail:
1: Population movement: 2 types; Pg: 61, 62
2: Factors of migration; Pg: 62
3: Densely populated areas of Pakistan. pg; 63
Largest cities of

Pakistan in 2017

Pesh ..
All 26 cities with a population * — R4
over 300,000 are shown \\
: p Y 4 ('}
Populations include N2 ae
adjacent cantonments
Source: Pakistan Bureau of
Statistics: Blockwise
Provisional Summary Results
of the 2017 Census
Population
I>10,000,000
[1>2,000,000
1>1,000,000

O>500,000
©»>300,000

Hyderabad




C. choose the correct option;

1. 7.7
2. growth
3. permanently
4. south
5. 60%
: . Population(sg. .
S.N City + country Population km) Density
1 Tokyo, Japan 6, 158 6, 263. 97 347. 07
2 Shanghali, China | 24.2568 6340.5 3, 800
3 Dehli, India 30.2 55, 083 11, 312
4 SgoPaglo, 12,176,866 | 1,493 7,216
Brazil
5 Mexicocity, |5 782,378 |6, 000 9, 800
Mexico
6 Cairo, Egypt 20, 485, 000 50, 180 19, 376
7 Dhaka, 20,284,000 |1, 115.62 46, 997
Bangladesh
8 Mumbai, India | 19, 478, 447 437 32, 303
9 Beijing, China | 18.8 4,100 4500
10 Osaka, Japan 17, 000, 000 6706.7 11, 836

Lesson#8: Human Settlement

A. Answer the following questions:
QL1: Ans. Settlement Pg: 66

Q2: Ans. Types of settlement only names: Pg: 67

Q3: Ans. Site and location. pg: 66

Q4: Ans. Early settlements: pg; 67, 68

B. Answer the following questions in detail:

1: Settlement Hierarch. Pg: 68, 69

2: Different cities of the world perform some special functions. the function of city is its
main feature. there features can be religious, commercial educational, administrative or

manufacturing. We are living in province of Punjab and the city of Lahore. This city is also

known as old city. The walled city today remains the cultural heart of Lahore.




Lahore is second biggest city in Pakistan. it is capital of province of Pakistan. it is also
known as the city of gardens. This city is known for its rich culture and lively atmosphere. it
Is big spot of tourist, industries with major attraction places of Badshahi masjid, Lahore fort.
Lahore is renowned for its famous and historical places like Punjab University. it has also
been known as the city of saints.

C. choose the correct option:
1. cares and jungles
2. isolated dwelling
3. 100 to 5000
4. pacific
5. busiest seaport
D. Match the columns

Column A Column B

New York Statue of Liberty

Shanghai Industrial & commercial hub
Makkah Sacred city of Muslims

Tokyo Eastern japan

Karachi 11" most populated city of the world.

Key book Computer

Chapter#5: Word

Exercise
1) Column
Column A Column B
word processor (word,wordpad,google,docs)
copy (ctrl+c)
cut (ctrl+x)
paste ctrl+v
delete backspace and delete key
quick access toolbar frequently used command, save, undo and
redo
tab group of command like font, paragraph, and
style
ribbon insert design and page layout
select all ctri+A




| change case | shift +f3

2)Choose the correct option.

1.word 2.tab
3.ribbon 4.curser
5.select 6.copy

7.cut 8.delete
9.font 10.alignment

3) Describe the following.

1. Word processor.(Page 51 word processor 1% 3 lines)

3. Ribbon (page 52 point ribbon)

4. Font (page 56 font 1%t 3 lines)

5. Change case (page 57 change case)

4) Answer the following questions

1. Difference between copy and cut command?

Ans: page 54,55

2. What is the use of paste command?

Ans: page 54

3. What do you use alignment and what alignment are there in word?
Ans: page#56 alignment point

4. What is text editing?

Ans: Cutting, removing and re-arranging text is called tex editing.
5.What are the steps to save and print a document?

Ans: page 58,59(save, print a document)

6.What are the steps to Check spelling and grammar?

Ans: page 57(step spelling and grammar)

7. What are the steps to copy and paste?

Ans: page 54(steps copy and paste)
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